The Population Explosion

1. Current world population (as of 2005) was 6.5 billion

2. Putting the numbers into perspective

1. Each time your heart beats, 3 more people are added to the world

2. Each time a person dies 2.8 babies are born

Projected world population according to 3 different fertility scenarios.

3. Indefinite growth?

1. While the last 2 figures show the population growing infinitely, this is not possible.  Why?

4. What caused the population to grow so rapidly?
1. Better recruitment due to declining infant mortality rates

2. What caused infant mortality rates to decline?

1. Improvements in agriculture – increased production and better food distribution and storage

2. Public health measures – improved sanitation practices, cleaner drinking water, mass inoculations

Different Worlds

1. What causes people to be poor?  

a. Is it their choice?

b. In actuality, poverty is caused by the reality of limited resources combined with large numbers of people-  In most instances, poverty is not a choice.

2. Rich nations

a. Decreased birth rates

b. Low to negative growth rates

c. Increased consumption rates per person

d. In general, negative environmental impacts due to affluence, not numbers of people.

3. Consequences of affluence

a. Greater contribution per person to global pollutants – carbon dioxide, ozone depleting chemicals

b. Food consumption high on biomass pyramid – fewer people can be supported

c. Waste production high – fuel inefficient transportation, throe-away consumer goods

4. Poor nations

a. Moderate birth rates (the rates have decreased in the last 20 years)

b. Moderate to high growth rates

c. Low consumption rates per person

d. Negative  environmental impact due to numbers not affluence

5. Consequences of population size

1. Subdividing farms and intensifying cultivation

2. Opening up new lands for agriculture

3. Migration to cities

4. Illicit activities

5. Emigration and immigration

6. Impoverishment of women and children
Dynamics of population growth

b. Population profiles

1. Age structure of a population – how many people are young, middle age, and old
c. Population projections

1. Total fertility rate

2. Replacement level fertility

3. Birth rates and death rates (infant and childhood mortality

4. Doubling time

1. The world’s population will double in about 50 years.

d. How do population projections vary by country?

1. Population projections for a more developed country

2. Population projections for a less developed country

e. Population momentum

1. Population momentum is difficult to understand The demographic transition

f. Epidemiologic transition

1. Pattern of change in mortality factors

2. Death rates have declined

Developed Nation                                                                  Developing Nation

US population profile:

1. How has the US population changed in relation to what is projected in the next 50 years?

2. The US population rate of growth appears to be slowing yet the population is still growing.  Why?

2. Fertility transition

a. Pattern of change in crude birth rates

b. Birth rates have decline world wide

3. Phases of demographic transition

a.
The demographic transition is a description of the correlation observed in developed countries between economic development and decreased fertility rates.  There may be other, equally effective, means of reducing fertility rates.
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